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And let us derive 2p> 2P from XY DY — FORT AR 2P 2PN OO

Overview

The & mx explained that »"1 requires a minimum of five 2°¥%0 payment for 7pvn,
because he derives it through a mw 77°1 of ap>n op». It states op*) regarding
apavn,'and it states op™ by a M2 P79;% just as by 23 P10 we require five 0°v90,
the same applies to 7pn. The X3 asks let us utilize this w"mx of 0P op™ to
derive Py from XN n9w,’ that just as there is no minimum for X7 now,”* there
1s no minimum for 7p1¥7. Our MdOIN discusses why indeed there is no minimum
for an K7 nYW.

nooIN asks:
- DOYYD A RN S99 999 NINY Y937 19 N3 N9 1IN NYIYA TNINN ON)

And if you will say how do we know, regarding an 7°87 n%w, that a minimal
amount is sufficient; let us derive 1°X7 n?Ww from =192, and X1 n?W should
require five 2990 like 1152 117707!

MDOIN answers:
- NINVY D927 NN 2019 NWNY NIDN NNDYT 915 v

And one can say; that perhaps it is a »''»%>7 that (even) a minimal amount is
sufficient for an 7°X7 n9Ww.

mdoIn finds support for this conjecture -
= 1990 927 G0 NY NN NIWT (vt qm DIININT NP P92 Sann IN1IY NNY

For according to the one who maintains in the first P92 of 7a°1 noon that the

requirement for an 7987 N to be worth 703 °nw (according to w"2) is A7INT 8,
regarding this view -
£93901 NWNRY *na5n 1T ANS NIDNT '8P PI9 051N 190N

130,10 (787) 07127 reads, op* WY KD JHYR WHR NALWA .

25,75 (Rwn) MW reads, Qp™ *19 X7 KYI 7790 7712 M2 92,

? The words 0p™ *30 XY 91 in the P19 cited previously (footnote # 2) are actually referring to the obligation that
whenever someone is 731 7127 to 022w, he is obligated to bring a 791 127, which is called 7°%1 n?w.

* See nown "7 °"w1; however the conclusion of the X723 in X,7 773°17 is that 7707 11 there is no minimal requirement
for the %7 N2,

> 9m 1°79 and R1 NYW are written next to each other (see footnotes # 2 & 3), therefore we should compare the two.
® This refers to 13mM> ' who maintained (initially) that the n12mn between 71"21 w"2 whether the 7°81 09 needs to be
worth 702 °nw (W"2), or 102 7vn (7"2) is 71707 1. See footnote # 4.

X" (in our texts; X,2).

¥ The n"n%%7 overrides any Wy to M132 11°75.
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They said in 252> 71270 in the first P25 of ;73°2 noo» that this requirement is
n'"%%95, so too according to the X1pon that X1 NP1 is w"53, that too is a n"n%o1.

Summary
There is a n"n%%1 that there is no minimal requirement for the value of an X7 n?W.

Thinking it over
nmooIN suggests that it is a »"»%%7 that an X1 N2 has no minimal requirement.

How then can the X3 ask that we should derive 7pavn from X1 N2 (that there
should be no minimum) when there is an accepted rule’ that we do not utilize a
w"1 (or any of the M7 3™) to expound a n"n%%n2!"°

? See x2°py 11"7 R,2%p NAw "wA.
10 See mpn and w"wn.
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